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= 25,000
= 7,500
Ea 17,500
HsHE HAEGHRA 2 198,884 137,431 61,453
101 21AH| 179,284 116,631 62,653
04 JIZtN2Z2XNS 2= 179,284 116,631 62,653
OFISHENAESRA 2o 212iy| 179,284
—JlEs 82,3903 x3H x242 59,816
— St 2,000 3 »242 1,452
—248l 4,000 <3 +242& 2,904
—F5=4 82,3003 x3& *47= 11,617
—Rerg+E 82,3003 x3& »12& 2,97
— ¢ x==g 88,3003 38 * 11 2,917
—A2l=&
16,5802 x3& *5A[ 2+ 132 32,829
—oRt22+E
5,530 2«3 +BA| 2k 132 17,520
—5L22+H 132,590 x3& x66 26,253
—SEFOHI 300,000& x3E *23] 1,800
—4AHEE= 160,075,000& *12% 19,209
201 fer= 3| 19,600 20,800 1,200
01 At 2|l 5,600 5,600 0
OASHEANAEGIRA 22F 7Y
2,000,000& *14] 2,000
oA FAE+ ESHI
300,000& * 122 3,600
02 S3=4gl 14,000 15,200 1,200
OAsHEANAESIRA 23| 14,000
— A2 & H =X 2,000,000 *14] 2,000
—332s(@|,+=£,34 )
1,000,000& «12& 12,000
HsAHEL XA 80,000 80,000
301 EtE NS 25,000 25,000
14 IIEt2 83 25,000 25,000
OAsHEL OIAHl & =0l X3
500,000 x50+ 25,000




SN sEEAY
Hu: HeQls SEDIST)
el PsAE B =X (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
402 QI2F X201 & 55,000 55,000
01 QI X2 AL E R (KEHITHE) 55,000 55,000
OFs7Ze F0t2 K&
5,000,000& *5It= 25,000
OHsHES Y K&
10,000,000 *39H 2 30,000
HAsHE LAHFAIE =8(2 NLABUEII3) 600,000 0 600,000
[Ea 500,000
CH 100,000
401 AIZHIZL SO 600,000 0 600,000
s 500,000
CH 100,000
01 Al&H| 590,000 0 590,000
OASHHE SANAFAELEERE(Z NLLZH
2712) 580,000,000 x 14 590,000
= 490,000
CH 100,000
02 2/l 10,000 0 10,000
OFSHE SAHFAEERE(Z NSEAEN
2712) 10,000,000 * 14| 10,000
YU Y Z2XE 10,000 0 10,000
201 Ler23| 10,000 10,000
03 A=Y 10,000 10,000
OB&0 £ A X2
10,000,000 * 14} 10,000
ARz 50,000 816,112 AT66,112
el=eldl AIZAY 50,000 816,112 AT66,112
el AaXS SSAAAY 50,000 475,000 425,000
405 AHaHE = 50,000 0 50,000
01 ML ESF SHI 50,000 0 50,000
O3d ?I& 2€d gAY
50,000,000& » 14 50,000
AHEA 29 461,848 274,900 186,948
& 100,000
= 361,848
AASHX] 2kl 461,848 274,900 186,948
= 100,000
o 361,848
AFAEX] 2l 252,576 115,900 136,676
101 @124H| 34,45 22,600 11,856
04 JIZtNZ22 NS+ 34,456 22,600 11,8%
O’ HER 2l eIFY 21,273
—Jl2=s 82,303 x1H~ 168 13,842
— 1w SH| 2,000~ 18168 336




AN SEEH
3 MUK 29
CHel: AHTHR] 2ol EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
— 24l 4,00021%12 %1682 672
-5+ 82,3003 x1&x32== 2,637
—ReREaE 82,303 x1F+7& 577
—AXt=E 80,7903 x1H 7 629
—SE230Hl 300,000 x1H 13 300
—4AEE= 18,993,000 *12% 2,280
OMEHT AERXIES 219y
82,3002 x8EH*102*23] 13,183
201 =3 46,520 53,300 26,780
01 At22t2l] 24,520 24,320 200
OatAEX] 2288 P (M=, 4, ME)
100,000& «12& 1,200
OdE =83 4 =8
500,000& #2227 2 2,000
OBIE28NTAE HBIES
20,000,000& *13] 20,000
O&HE 22131 2= U2
110,000& * 1204 & 1,320
2 35234l 22,000 28,980 6,980
Odrgetl 213 Il (ANEsR2el)
10,000,000 * 14 10,000
OLEHl 2SS HIIes
150,000 x30H =% 123 5,400
OJrMAET] Kot Hi=E &=
60,0002« 12 720
OS] SHBZY SAld|
40,0002 128 480
OsgetddgHI HIEBEMSAE € =
HEZH HIIR=s 50,0002 122 600
OSAEHAMA 4ot M=
400,000& 123 4,800
401 AlEHIZ 2 0HbI 170,000 40,000 130,000
01 Al&H| 170,000 40,000 130,000
OMHEX U AIEES BE=SAMOIRS, BE&
£, ot S) 10,000,000& 45 40,000
OLHE A AZAE 243 A
200,000 *100m 20,000
O{AET] =22 SAL
333,330 *120m 40,000
OXAE Bi=2 HBISA
200, 0002 *100m 20,000
OLHE R BHFIHE S AL
8,000& 6, 250m" 50,000
405 AHaHE S 1,600 1,600
01 AL =S F = 1,600 1,600
OdHEX H=I] 2 400,000 =4CH 1,600
AHHER 23 9,272 3,000 6,272




AN SEEH
. NYT 29
CHel: AHTHR] 2ol EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 4,592 3,000 1,592
01 At2teltl 4,592 3,000 1,592
OSMIIHHNZE 2= MH
5,000 *200% 1,000
Odlgt sl 2y 287
250,000 43 1,000
ORI A2 2HI(EY)
8,0002 38 +0ed~ 123 2,592
202 04l 4,680 4,680
NETET] 4,680 4,680
OMACHT ALET(EH)
130,0002 <3+ 122 4,680
s3HNxd ¥ FHIXF(HEAY) 200,000 156,000 44,000
== 100,000
o 100,000
401 AIEHIZ R 0HYI 200,000 156,000 44,000
< 100,000
= 100,000
01 Al&H| 200,000 156,000 44,000
OAT=ZEI HEIMPA B(HE)
200,000,000 » 14 200,000
= 100,000
[Ea 100,000
Jlgetadgdal 4,496,626 1,432,730 3,063,8%
& 132,660
= 4,363,966
B HEL3t 4,4%,626 1,432,730 3,063,8%
= 132,660
o 4,363,966
Jlgetdxy 389,426 1,432,730 1,043,304
= 130,500
o 258,926
301 EetE2 N = 192,500 191,130 1,370
s 77,000
s 115,500
14 JEt2a s 192,500 191,130 1,370
O=s32X243 XA
38,500,000 *10IH 2 +50% 192,500
& 77,000
= 115,500
308 AHXIEMSOIE 3,626 25,900 N22,274
1 SIS0t EAS A 3,626 25,900 N22,274
ObrEtXl SA01Y FESH RISA(
=HI20,7208 &, EHI1, 5548 XFXIY)
25,900,000 x14{%14% 3,626




SN SEHR
HE: J|QEABLS
el JgS3E -3 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
402 QI2F X201 & 178,300 1,200,700 A1,022,400
= 53,500
= 124,800
02 QI X2 AL E R (0IHTHR) 178,300 1,136,700 958,400
O HEZNEA
8,915,000 *200H £ 178,300
=S 53,500
s 124,800
403 AXIEHHSAH=201H 15,000 15,000
02 S 2SS0t et =& 2 €A I 15,000 15,000
O S FAIAH 2= X3 AH(
CHl AEXE 15,0002 &)
30,000,000 * 141 %50% 15,000
I EEH(HE) 7,200 0 7,200
= 2,160
Ea 5,040
402 2IZtA=01A 7,200 0 7,200
S 2,160
o 5,040
02 RIENSASEZ(0IETHR) 7,200 0 7,200
OSAIIHEZMEAS (M E)
2,400,000 *37H 2= 7,200
[ 2,160
Ea 5,040
SAYMAEN S22t HE 4,100,000 4,100,000
401 Al HIZ 2018 4,100,000 4,100,000
01 Al&H| 4,040,550 4,040,550
OBABIUNACH IS HLEHE A
4,100, 000,000 %98.55% 4,040,550
02 Zeltl 48,380 0 48,380
OsgetahdgHil USRI ME HE
4,100,000,0002 *1. 18% 48,380
03 Al 20HHI 11,070 0 11,070
Osyeteddt el H=sH=SadE 2HE
4,100,000,000&1%0.27% 11,070
dY2IFH(s=25M) 182,678 185, 162 N2,484
olE2dH (s 133,334 142,084 A8,750
o2 (sE8n) 133,334 142,084 A8,750
101 e124d| 133,334 142,084 A8,750
01 2= 125,815 123,270 2,545
OAlZtel 22+¢ 123,711
—63 12,3212 +6& *50A1 2t 128 44,3%
—7= 11, 1302 x5 #50A[ 2+ 123 33,390
—8= 9,902 x4 H+E0A | 2+ 123 23,981




SN sEmED
M HYRAZH(sE=221)
Ciel: QIHAR2AH|(sEE) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—93 9, 1603 x4 +50A| 2+ 123 21,984
OX &bl 123,711,0002%1.7% 2,104
02 JIEtAE = 7,519 7,303 216
LEAINM AR 22+E 7,393
-us01g) 12,3211 +50A1 2t 123 7,393
OX<IH&bI 7,393,000 *1.7% 126
23H(s=241) 49,344 43,078 6.266
Jl2dtl(s=e3mn) 49,344 43,078 6,266
201 et23| 36,944 30,678 6,266
01 AtR2telHl 32,904 29,028 3,876
OSAPI gz 70,4002 +50H+ 122 4,224
O=g)l gz 330,000 «1CH* 122 3,960
OARIDD| e & ==clHI(ZN)
220,000 68« 128 15,840
OUB2R=2(ZY) 200,000 122 2,400
OJIEI2ZHI(ZNH) 6,300,000& 6,300
OAI0[2012 RAYS AESE
15,0002« 12& 180
02 S5=24g4l 4,040 1,650 2,390
Oz & 43031 *3,0000HK 1,290
Oxtgr 8| 100,000 1CH* 12 1,200
OXteg FAl2eltl 700,000 1CH 700
OXsi 2= 700,000& 700
OX+S ZHAl 150,000 1CH 150
202 04l 5,700 5,700
01 2LHoIH 5,700 5,700
OSEHAD L2EZ(BE)
300,000 «1H*12& 3,600
OHZAIZ(ZN) 2,100,000& 2,100
203 =4l 6,700 6,700
03 A=A 2= 2,500 2,500
OAIBFT AR =] 2,500,000 2,500
M EA2ER=AH 4,200 4,200 0
ORNESgE =AY 4,200,000 4,200




